NONOSCILLATORY PROPERTY OF SECOND ORDER NONLINEAR DIFFERENTIAL EQUATIONS OF ADVANCED TYPE*

Ming-Po Chen[†] and Bing Liu

Abstract. In this paper, we study the nonoscillatory property of the second order nonlinear differential equation of advanced type:

$$(r(t)\phi(x(t))x'(t))' + p(t)f(x(q(t))) = 0.$$

We prove an existence theorem for nonoscillatory solutions and compare the oscillation of nonlinear equations.

1. Introduction

Consider the second order nonlinear differential equation of advanced type:

(E)
$$(r(t)\phi(x(t))x'(t))' + p(t)f(x(g(t))) = 0, \quad t \ge t_0 \ge 0,$$

where

$$(H_1) \ r(t) \in C^1([t_0, \infty), (0, \infty)), \quad \int_t^\infty \frac{ds}{r(s)} = \infty;$$

$$(H_2) \ p(t) \in C([t_0, \infty), [0, \infty)), \quad p \not\equiv 0;$$

(H₃)
$$\phi(x) \in C^1([-\infty, \infty), (0, \infty)), \quad \phi(x) \neq 0 \quad (x \neq 0);$$

$$(H_4) \ f(x) \in C^1(-\infty, \infty), (-\infty, \infty)), \ xf(x) > 0 \ (x \neq 0);$$

Received March 1, 1997; revised October 30, 1997.

Communicated by S.-B. Hsu.

1991 Mathematics Subject Classification: 34C10.

Key words and phrases: Nonlinear differential equation, oscillation and nonoscillation.

- † The work of Ming-Po Chen was supported in part, by the National Science Council of Taiwan under Grant NSC-86-2115-M-001-001.
- * Presented at the International Mathematics Conference '96, National Changhua University of Education, December 13–16, 1996. The Conference was sponsored by the National Science Council and the Math. Soc. of the R.O.C.

(H₅) $G(x) = \frac{f'(x)}{\phi(x)} > 0$ $(x \neq 0)$; G(x) is nondecreasing in $(0, \infty)$ and nonincreasing in $(-\infty, 0)$.

$$(H_6)$$
 $g(t) \in C([t_0, \infty) \to [0, \infty))$, and $g(t) \ge t$.

A nontrivial solution x(t) is said to be oscillatory if it has arbitrarily large zeros, otherwise x(t) is said to be nonoscillatory.

The aim of this note is to prove the following characterization of the existence of nonoscillatory solutions of (E). The proof is an adaptation of that given in [1], where the special case g(t) = t was considered.

Theorem 1. Under the hypotheses $(H_1) - (H_6)$, (E) has a nonoscillatory solution if and only if there exists a positive differentiable function $\varphi(t)$ defined on $[t_0, \infty)$ and some $a \neq 0$ such that

$$(1) \qquad \varphi'(t) + \frac{\varphi^{2}(t)}{r(t)}G\left(F^{-1}\left(a, \int_{t_{1}}^{t} \frac{\varphi(u)}{r(u)}du\right)\right) \\ \leq -p(t)\exp\left(\int_{t}^{g(t)} \frac{\varphi(s)}{r(s)}G\left(F^{-1}(a, \int_{t_{1}}^{s} \frac{\varphi(u)}{r(u)}du\right)\right)ds, \quad t \geq t_{1} \geq t_{0}.$$

Here F denote the function $F(a,x) = \int_a^x \frac{\phi(u)}{f(u)} du$, $a \neq 0$.

It is clear that when a > 0, F(a, x) is strictly increasing for x > 0; when a < 0, F(a, x) is strictly decreasing for x < 0 (see [1] for further properties of F(a, x)).

By (H₁), (H₅), (H₆), and $\varphi(t) > 0$, we see that the integral $\int_t^{g(t)} \cdots$ is positive, which together with (1) implies that

$$\varphi'(t) + \frac{\varphi^2(t)}{r(t)} G\left(F^{-1}\left(a, \int_{t_1}^t \frac{\varphi(u)}{r(u)} du\right)\right) \le -p(t), \quad t \ge t_1.$$

Then, by applying Theorem 1 to the case g(t) = t, we immediately deduce the following corollary.

Corollary 1. If (E) has a nonoscillatory solution, then equation (E) with g(t) = t also has a nonoscillatory solution.

According to Theorem 1 (with g(t) = t) and Corollary 1, we easily deduce the following corollary which generalizes Hille-Wintner comparison theorem [2, 3] and Theorem 2.3 of [4] to include nonlinear equations of advanced type.

Consider, together with (E), the following equation:

(*)
$$(\bar{r}(t)\phi(x(t))x'(t))' + \bar{p}(t)f(x(g(t))) = 0.$$

Corollary 2. Suppose \bar{r} and \bar{p} also satisfy (H_1) and (H_2) , and suppose that $0 < r(t) \le \bar{r}(t)$, $0 \le \bar{p}(t) \le p(t)$, $t \ge t_1 \ge t_0$. If equation (E) has a nonoscillatory solution, then the equation (*) also has a nonoscillatory solution.

2. Proofs of Results

We will see later that all solutions of (E) oscillate when $\int_{-\infty}^{\infty} p(s)ds = \infty$ (Remark 1). Hence we assume that $P(t) = \int_{t}^{\infty} p(s)ds < \infty$. First, we modify the arguments in the proof of Lemma 1 of [1] (which is for the case g(t) = t) to prove the next lemma.

Lemma 1. If (E) has an eventually positive solution x(t) > 0 ($t \ge t_1 \ge t_0$), then $\omega(t) > 0$, $\lim_{x \to +\infty} w(t) = 0$ and for $t \ge t_1$

(2)
$$w(t) = \int_{t}^{\infty} \frac{w^{2}(s)}{r(s)} G\left(F^{-1}\left(x(t_{1}), \int_{t_{1}}^{s} \frac{w(u)}{r(u)} du\right)\right) ds + \int_{t}^{\infty} p(s) \exp\left(\int_{s}^{g(s)} \frac{w(u)}{r(u)} G\left(F^{-1}\left(x(t_{1}), \int_{t_{1}}^{u} \frac{w(v)}{r(v)} dv\right)\right) du\right) ds,$$

where $w(t) = \frac{r(t)\phi(x(t))x'(t)}{f(x(t))}$.

Proof. From (E), we have

(3)
$$w'(t) + \frac{w^2(t)}{r(t)} \frac{f'(x(t))}{\phi(x(t))} + p(t) \frac{f(x(g(t)))}{f(x(t))} = 0, \quad t \ge t_1.$$

Since

$$\frac{w(t)}{r(t)} \frac{f'(x(t))}{\phi(x(t))} = \frac{f'(x(t))x'(t)}{f(x(t))} = (\ell n f(x(t)))',$$

we have

(4)
$$\frac{f(x(g(t)))}{f(x(t))} = \exp\left(\int_t^{g(t)} \frac{w(s)}{r(s)} \frac{f'(x(s))}{\phi(x(s))} ds\right).$$

Thus, from (3) and (4), we have

(5)
$$w'(t) + \frac{w^2(t)}{r(t)} \frac{f'(x(t))}{\phi(x(t))} + p(t) \exp\left(\int_t^{g(t)} \frac{w(s)}{r(s)} \frac{f'(x(s))}{\phi(x(s))} ds\right) = 0, \ t \ge t_1.$$

From (5), we have $w'(t) \leq 0$. Integrating the above equation from t to T ($t_1 \leq t \leq T$), we obtain

(6)
$$w(T) - w(t) + \int_{t}^{T} \frac{w^{2}(s)}{r(s)} \frac{f'(x(s))}{\phi(x(s))} ds + \int_{t}^{T} p(s) \exp\left(\int_{s}^{g(s)} \frac{w(u)}{r(u)} \frac{f'(x(u))}{\phi(x(u))} du\right) ds = 0, \ t \ge t_{1}.$$

Since

$$\int_{t_1}^t \frac{w(s)}{r(s)} ds = \int_{t_1}^t \frac{\phi(x(s))x'(s)}{f(x(s))} = \int_{x(t_1)}^{x(t)} \frac{\phi(x)}{f(x)} dx, \quad t \ge t_1,$$

we have

$$x(t) = F^{-1}\left(x(t_1), \int_{t_1}^t \frac{w(s)}{r(s)} ds\right).$$

From (6), we have for $t \geq t_1 \geq t_0$

$$w(t) = \int_{t}^{\infty} \frac{w^{2}(s)}{r(s)} G\left(F^{-1}\left(x(t_{1}), \int_{t_{1}}^{s} \frac{w(u)}{r(u)} du\right)\right) ds$$
$$+ \int_{t}^{\infty} p(s) \exp\left(\int_{s}^{g(s)} \frac{w(u)}{r(u)} G\left(F^{-1}\left(x(t_{1}), \int_{t_{1}}^{u} \frac{w(v)}{r(v)} dv\right)\right) du\right) ds.$$

Finally, the same arguments in Lemma 1 of [1] show that w(t) > 0 and $\lim_{x \to +\infty} w(t) = 0$.

Remark. Suppose $\int_{-\infty}^{\infty} p(t)dt = \infty$. If (E) has an eventually positive solution x(t), then from (5) we have $w'(t) + p(t) \le 0$, hence $w(t) - w(t_1) \le -\int_{t_1}^t p(t)dt \to -\infty$ as $t \to \infty$, which implies x'(t) < 0 eventually. Now following the proof in Lemma 1, we can get the contradictory conclusion that x(t) < 0 eventually. Hence every solution of (E) oscillates if $\int_{-\infty}^{\infty} p(t)dt = \infty$ holds.

Proof of Theorem 1. The necessity part has been proved in Lemma 1. We now prove the sufficiency part of the theorem. Without loss of generality, set a>0. The same argument as in Theorem 1 of [1] shows that $\lim_{t\to\infty}\varphi(t)=0$. Integrating (1) from t to ∞ , we have for $t\geq t_1$

(7)
$$\int_{t}^{\infty} \frac{\varphi^{2}(s)}{r(s)} G\left(F^{-1}\left(a, \int_{t_{1}}^{s} \frac{\varphi(u)}{r(u)} du\right)\right) ds$$

$$+ \int_{t}^{\infty} p(s) \exp\left(\int_{s}^{g(s)} \frac{\varphi(u)}{r(u)} G\left(F^{-1}\left(a, \int_{t_{1}}^{u} \frac{\varphi(v)}{r(v)} dv\right)\right) du\right) ds \leq \varphi(t).$$

Define a mapping T as follows:

$$(7y)(t) = \int_{t}^{\infty} \frac{y^{2}(s)}{r(s)} G\left(F^{-1}\left(a, \int_{t_{1}}^{s} \frac{y(u)}{r(u)} du\right)\right) ds$$

$$+ \int_{t}^{\infty} p(s) \exp\left(\int_{t}^{g(t)} \frac{y(u)}{r(u)} G\left(F^{-1}\left(a, \int_{t_{1}}^{u} \frac{y(v)}{r(v)} dv\right)\right) du\right) ds$$

for $t \geq t_1$. Let $x_0(t) = 0$, $x_n(t) = (Tx_{n-1})(t)$, $n = 1, 2, \ldots$ Then $x_0(t) \leq x_1(t) \leq \cdots \leq x_n(t) \leq \cdots \leq \varphi(t)$. Hence $\lim_{t \to \infty} x_n(t) = w(t) \leq \varphi(t)$. From (8), we have

$$(9) x_n(t) = \int_t^\infty \frac{x_{n-1}^2(s)}{r(s)} G\left(F^{-1}\left(a, \int_{t_1}^s \frac{x_{n-1}(u)}{r(u)} du\right)\right) ds + \int_t^\infty p(s) \exp\left(\int_s^{g(s)} \frac{x_{n-1}(u)}{r(u)} G\left(F^{-1}\left(a, \int_{t_1}^s \frac{x_{n-1}(v)}{r(v)} dv\right)\right) du\right) ds.$$

According to Lebesgue's theorem, letting $n \to \infty$ in (9), we get

$$(10) \qquad w(t) = \int_{t}^{\infty} \frac{w^{2}(s)}{r(s)} G\left(F^{-1}\left(a, \int_{t_{1}}^{s} \frac{w(u)}{r(u)} du\right)\right) ds$$
$$+ \int_{t}^{\infty} p(s) \exp\left(\int_{s}^{g(s)} \frac{w(u)}{r(u)} G\left(F^{-1}\left(a, \int_{t_{1}}^{s} \frac{w(v)}{r(v)} dv\right)\right) du\right) ds.$$

Let

(11)
$$x(t) = F^{-1}\left(a, \int_{t_1}^t \frac{w(u)}{r(u)} du\right), \quad t \ge t_1.$$

Then

$$\int_{a}^{x(t)} F(a, x(t)) = \int_{t_1}^{t} \frac{w(u)}{r(u)} du, \quad t \ge t_1,$$

and so

$$F'_x(a, x(t))x'(t) = \frac{w(t)}{r(t)}, \quad t \ge t_1,$$

(12)
$$\frac{\phi(x(t))x'(t)}{f(x(t))} = \frac{w(t)}{r(t)}, \quad t \ge t_1.$$

From (10), we have

(13)
$$w'(t) + \frac{w^2(t)}{r(t)} \frac{f'(x(t))}{\phi(x(t))} + p(t) \exp\left(\int_t^{g(t)} \frac{w(s)f'(x(s))}{r(s)\phi(x(s))} ds\right) = 0, \quad t \ge t_1.$$

From (4), (12) and (13), we have

$$(r(t)\phi(x(t))x'(t))' + p(t)f(x(g(t))) = 0, t \ge t_1,$$

which implies that x(t) is a nonoscillatory solution of (E). The proof is completed.

References

- 1. Wudu Lu, Nonoscillation theorems of second order nonlinear differential equations, *Acta Math. Sinica (N.S.)* **9** (1993), 166-174.
- 2. C. A. Swanson, Comparison and Oscillatory Theorem of Linear Differential Equations, Academic Press, New York, 1968.
- 3. A. Wintner, On the comparison theory of Kneser-Hille, $Math.\ Scand.\ \mathbf{5}\ (1957),\ 255-260.$
- 4. Jurang Yan, Oscillatory properties for second order nonlinear equations with an "integrally small" coefficient (in Chinese), *Acta Matematica Sinica* **30** (1987), 206-215.

Ming-Po Chen Institute of Mathematics, Academia Sinica Nankang, Taipei 11529, Taiwan E-mail: MAAPO@ccvax.Sinica.edu.tw

Bing Liu Department of Mathematics, Hubei Normal College Huangshi, 435032, China